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Question Number : 1 Question Id : 4387197361 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Deuteromycetes is called as Impertect fungi because

ExB6°HhETud 5od6E Hoh ol b, JothEsne
Options :
Sexual reproduction is absent

gohl (H&rehd £hod aothi
1 \_/" [-mil Lo B od—o

Mycellium 1s monokaryotic and septate

2Dojferuo H¥ Jol¥idngo Sbdfn Deray dindo

The fruitingbody is ascocarp

pomorisn o8 elfzd,
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They are saprophytes

4 % TR SreTERlies

Question Number : 2 Question Id : 4387197362 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A group of mndividual organisms with fundamental similarities is called as

Family

) % EENoD0

Species

Question Number : 3 Question Id : 4387197363 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Air bladders are found in the following plant

TokiTer (§ob Fnst sLbTow
Options :

Fucus

v T

Laminaria

) % eluRedST

Dictoyota

Polysiphonia
PRI

4. %

Question Number : 4 Question Id : 4387197364 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
The plant used as a packing material for the living material trans shipment

Horored a8l Bdeed Sorer ddtutod® add@rio =0
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Marchantia

&-w;o Eslevig

Sphagnum

Anthoceros

3 % o0& hoh

Funaria

4% B_'J_“J?_E}RS.Jﬁ-Dj}“

Question Number : 5 Question Id : 4387197365 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Gall tlowers are

e E’jﬁ@&n
Options :

Sterile male flowers

. 2o N Hames

1. L
Sterile female flowers
5o b sme
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Sterile bisexual flowers

3 % Sog Gugors éa_’;au

Fertile bisexual flowers
Pososzon Boild aﬁ:.i?m

4. %

Question Number : 6 Question Id : 4387197366 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which Phyllotaxy 1s seen in Alstoma 7

wSiENr &° $bolm N DT
Options :
Alternate

1. ® CTJE":'Oﬁ'S
Opposite
, oy EeD

Whorled

3 @ S8
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4,

o odSnd 806

Opposite decussate

oy { nank

Question Number : 7 Question Id : 4387197367 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

The inflorescence found in the family Euphorbiaceae with achlvmadeous. unisexual

flowers 1s

Pt Hinones® 5080 HEHE 8T8 U80S Hipw S

Options :

2.¢

Verticellaster

Cyathium

BarGahS

Solitary cyme

wBrods 2880

Hypanthodium
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Question Number : 8 Question Id : 4387197368 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Parthenocarpy is

el uiseho esm
Options :
Development of fruit from ovary without fertilization

Sebsls niilom so@micho 5ol Suo
1.

Sd&o

e

Development of embryo from female gametophyte without fertilization

N sebida adifod & Sodriddao Sob Sodo uthd&o
2. &

Development of seed without fertilization

sebftn abifor sdTw U dE&o

Development of embrvo from nucellus tissue

sood: Souec o0l Sores Qﬁ:,n‘éém

Question Number : 9 Question Id : 4387197369 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Identify post fertilization events
a. Double fertilization b. Development of endosperm
¢. Embryo development d. Syngamy
e. Ovules develop into seeds

f. Ovary develop into fruit

Sedfdarodd Sodkdem Hoowhdn
a. aepdsden b, sothdmo ddeo
C.bo;f-&;jj@ d socind soErde €. sores SETmm Srdko

i scmiohc Seoir Srddo

Options :
& b,oodjef
1. %

5 $gb.c.d.e.f

; » d.b.ce

4Jb‘c.e_.f

Question Number : 10 Question Id : 4387197370 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Megasporangium is also called as

Sreds Derdcrom §o& Do BSTeT s
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Ovule

| EoTw
Ovary

) % BOFEICirTy
Embryosac

3 % SolkTres

Seeds

Question Number : 11 Question Id : 4387197371 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statement 1 : In Bentham & Hooker classification evolutionary relationship among
the groups may or may not be reflected.

Statement 2 : Bentham & Hooker classification i1s a Post-Darwinian classification.
5o 1 Hogras Sbdin SwEbe aﬁ%éﬁméﬁ Sl g B0eri Domogren [Badofiod Sy

0 2 Doprhs Sl Tl © é%éét@. =S é%‘édm domd LBEHa,
Options :
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Statement 1 is false. statement 2 1s true.

| % F%‘D 1 @ﬁ-ééo. Féﬁgo 2% e

Statement 1 1s true. statement 2 1s false.

) v £ v
2 ﬁ""-:té"ﬂ 1 r.réé..rl:" '3'.-‘1:"-:-5-)@ 2 %Né&@

Both statements are true.

" Soth ZPEeo W&o

Both statements are false.

4 % Gots ZPEhen eddo

Question Number : 12 Question Id : 4387197372 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statement A : Shape of the cell is variable with the function they perform.
Statement B : Neuron cell 1s longest and branched animal cell that sends and
receives signal from bran.

50 A : Smo Euf) eic TR el af Srhaob

.
% B 1 dsso Bgm prakedent 08 sodhine 8k Hod Solvam Sobim, [Irede
Do
Options :
A 1s false. B 1s true

st nt o
L ® A wiidio, B L)
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Both A and B are false
A Sbain B ot ailido
2. % =

A 1s true. B 1s false

- A H&o B wigo

Both A and B are true

o A 58din B Tosr R0

Question Number : 13 Question Id : 4387197373 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Choose the correct one

A B [
L. Golgibodies Single membraned Protein synthesis
IT.Mitochondrion Power house of the cell DNA Replication
III.Chloroplast Carbohvdrate synthesis  Protein synthesis
IV.Nucleolus Ribosomal factory 80s and 70s ribosomes synthesis

485 80 hgood
A B c
L m§ Sogio EE SR DPE8e Sosde

I1. SotsPzro|BdirR SeadfSgronirdo DNA ge5s

I1L. &6 Do Dol Forgre Hodhes (BPESe JogHs
IV So|fzrodo Bt S Soymrde  80s Z8ain T0s 5&*iSe Hoddes
Options :

| x L IL III. IV
II. IIT
2.¢

I 11, IV
3. ®

4% IT only

Question Number : 14 Question Id : 4387197374 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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Time : N.A Think Time : N.A Minimum Instruction Time : 0

Monomer of Insulin

LN Gwd) s

Options :

3. %

Question Number : 15 Question Id : 4387197375 Display Question Number
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Total number of nuclei divided in one meiosis cell cyele

e.5 SdiE0es EJe;’:Eaié% dgfas dolbs SwEo Soldsry }’:Gé‘;@

Glucose

ri:;ﬁ

Fmctose

PED

Arabinose

Options :

1. %

2

=
vals)

: Yes Is Question Mandatory : No Calculator : None Response
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) % 4

3.4 3

Question Number : 16 Question Id : 4387197376 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

An isolated individual meristematic cell consists of the following cell wall layers

Dthichals el B0 Deratno (Zob Sn¥sS ek $9Hotos
Options :
Middle lamellum and Primary wall

Sp5e08 Hoak PERE S50

Primary wall and Secondary wall

lolgsns Ssko Sdakw Eagjf“sf:ﬁ:a =fatnle

Only Primary wall

y o oS g5 SrEd

Middle lamellum. Primary and Secondary wall

. o5 eaDy, (Frgns Hedin Bdch B$io
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Question Number : 17 Question Id : 4387197377 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arrange the following in centripetal manner in woody dicot stem:
I.Phellum II. Secondary Phloem II1. Phellogen
IV. Secondary Xylem V. Phelloderm VI. Vascular Cambiel ring

WEReHN Gudds ool < Bohardl Somdard Biod® wildng :

o

I B L ﬁﬁéﬁfbﬁa’:‘é Zoerewo 1L Boid DgrepSosroo
IV. ﬁé@afﬁ-ﬁ”iﬁ:é} V. ﬁé@tﬁ} BOPo VI irlgrenderdd Socbo

Options :

_ IV, VEIL 'V, 11 1

IV.HLIL LIV, V
2. ®

3 % LILILIV.V.VI

4 EHL V. ILVLIV

Question Number : 18 Question Id : 4387197378 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Annual rings in the woody dicot stem

S ETalary ﬁ&cﬁﬁ’&a& Fomod o SHedires
Options :

Decrease towards top of the woody dicot stem

- J58e3 aiedea romre Beried® Sdolkd

Increase towards top of the woody dicot stem

oy DE6ES Gyiederomre Trriod® Bk

Remams constant in the woody dicot stem

SE0eS Hehe somed® Hiom eoi

Decrease towards base of the dicot stem

&

Bytde oo wiih grred® Sfodd

Question Number : 19 Question Id : 4387197379 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Growing CAM plants in the bed room 1s advantageous because

CAM o 388 Has® Dodvdos Son Baredrw
Options :
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They release CO; during night time

| % SRS Hioafod® CO, % Dode dakois

They release O3 in the night

) % ad o8 O; H Ddtse Wdkoi

They fix CO, in the night

@2 o8 CO, 5 WE555S

3. ¢
Theyv release H,O during night

, x SO T H,0 & 268 Sk

Question Number : 20 Question Id : 4387197380 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the regulatorv services

I. Afforestation II. Water purification

1. Wild life IV. Flood protection by growing Mangrooves
|80 BOD5D Jobo|den e HEoSed

I eX5o 2osso II. 58 é}%éfﬁi@

I1I. %I&:’“E‘ﬂu“ IV. ot sl Hod 588 ks

Options :

% I. Il only
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I. IL IV only
2. %

I. IL IIT only

4 o LILILIV

Question Number : 21 Question Id : 4387197381 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The enzyme with lowest turn over number is

edioy 08) L56 Doy DA oBIoA Moo

Options :

Penicillinase

2ODD

Chymotrypsin

DOVIT DD
2. %

Tryptophan synthetase

ST'FD Dorsd

3. %
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Lysozyme

SN
4.9

Question Number : 22 Question Id : 4387197382 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the type of CO; fixation pathway seen in the succulent plant species

GRS 208 v 2retoees’ €0t CO, ‘g“ﬁ}é =) (oBotsod,

Options :
CAM pathway

CAM S306eo
1.¢ o

C3 pathway

C3 3700
® 0

C2 pathway

C2 3A36o
3. % o

C4 pathway

C4 2560
4, % 2
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Question Number : 23 Question Id : 4387197383 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the type of soil water available to plants

D008 LB VH[HAD| DV Qe 65" Botdoc.
Options :

Capillary water

L 2% T°V98 2o

Gravitational water

rodogr sdes 200
] 5

R‘Llﬂﬂ'ﬁ.ﬁ-’ﬂ}f' water

DT 200
3. %

Hygroscopic water

eorEHE meg
4, # i

Question Number : 24 Question Id : 4387197384 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

number of essential elements are required by plants for their normal growth

220800 T8 FEro DOOMEVL BDB(SI0TUTV Vo MBotded

Options :
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| = 18

2. 23 l?

3.v 16

4, ® b

Question Number : 25 Question Id : 4387197385 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

enzyme converts sucrose mto glucose and fructose

DoBA WEH ArES 2B0IL DEET JPDRVE

Options :

Zymase

0D

Invertase

@éggé

Isomerase

DT 00
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Maltase

=t 52
4. % =

Question Number : 26 Question Id : 4387197386 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Glycolysis takes place in which part of the cell

€e305°D O 270" BE DD 2B

Options :
Chloroplast

83

Nucleus

rﬁrﬂécﬁai}
3_ L]

Cytoplasm

285 a0
3. ¢ -

Mitochondria

0 sred ol
4. % =

Question Number : 27 Question Id : 4387197387 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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is the primary precursor of Indole-3-acetic acid

QoEIS-3-DDOS OIrRE AIg), FES PPEYTraD

Options :
Tryptophan

OI>S
Lv e

Valine

TOR

Tyrosine

AP

Phenylalanine

2DV
4. %

Question Number : 28 Question Id : 4387197388 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Extra circular. double stranded. self-replicating DNA present in a bacteria is known
as

ErSBOIrS” &) BEIR) JTTC. AW, DLED-P8ES Bokre DNA

e908TPC0
Options :
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Cosmid

's“f‘;:uéi

Nucleoid

a‘m&é adroné

Phagenud
é“aaéci

Plasmd
T L &

Question Number : 29 Question Id : 4387197389 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who confirmed the genetic material of Tobacco Mosaic Virus as RNA 7

TS 202ras DOD ), 2R DETY) BEIIIMT A5G JT-Botrcd ?

Options :
WM Stanley

WM 9
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D Iwanowski

D ?E‘Sb%

M Beijermck
M D&EBoS

F Conrat

i Fsoée

Question Number : 30 Question Id : 4387197390 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The term Linkage was proposed by

D038 &3 Doy DAF B0t

Options :
Punnet

i Ho ;LES

Morgan

- ?.mgﬁ

Mendel

3 % Vo&ed
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Boveri

L % 0

Question Number : 31 Question Id : 4387197391 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The genotype of a plant showing the dominant phenotype can be determuned by
2T VLETY) Wrdetd 0E), B, RA(EPT ) B LT DGaetsIEy
9] I = £a

Options :
Test cross

82 B0
1.« =

Dihybrid cross

, % EEFO6 T

Pedigree analysis

DoT DY DB

Back cross
&Jﬂéé =R
4, ®

Question Number : 32 Question Id : 4387197392 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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Time : N.A Think Time : N.A Minimum Instruction Time : 0

Proportionality of DNA-Nucleotide base pairing is observed by

EdbRa- SpSdrdted® Fore ady olrddl Sdbd Hklomrt,

Options :
Griftfith

pB5

Erwin Chargaft

e Eﬁ"?p
2.

Herculus
E:E-iﬁ:g_&"_p:

3. %

Watson

Question Number : 33 Question Id : 4387197393 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Basing on the below representation of Central Dogma — Genetic information flows
from Replication

DNA || 5
—_—

lﬁé‘:%ﬁ

1 3
Aaosy —————* ; k
Options :

1. Translation 2. t-RNA 3. Transcription 4. RNA

. 1) sdardo 2) w6b =5chSn 3) wdSyidc 4) ebasl
1.

1. Transcniption 2. r-RNA 3. RNA 4. Translation

- 1) e5Tsdo 2) BF &5 -s0aR0 3) «6ahan 4) sXTdo

1. Transcription 2. m-RNA 3. Translation 4. Protein

” 1) sédeso 2) caherd sbafa 3) sdardo 4) (Bréd
3.

1.Primer 2. hn-RNA 3. Transcription 4. Aminoacid
. 1) 256 2) hn- =56685 3) o%8sdc 1) o5F sbirw
4.

29/135



7/11/22, 3:50 PM

Question Number : 34 Question Id : 4387197394 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Which of the following is a Palyndrome 7
|8o& a*Q&° ( Palyndrome) sroolf* «f 290 wohth ?

Options :
TELIUGL

1. =

URDU

2. %

MALAYAILAM
3.¢

ENGLISH
4. %

Question Number : 35 Question Id : 4387197395 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Agarose 1s a natural polymer extracted from

sifS ol Sire FO5H6% Fortmonr BliSol SrSih
Options :

Fungi

= o i -
SDolTren

1. %
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Bryophytes

L@

Sea Weeds

3.9

Pteridophytes
[eE S

4, %

Question Number : 36 Question Id : 4387197396 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The technology used for identifying Criminals by forensic science and also parental
disputes is

PIB0E, Derifo T IsHud wortl 28 Jonohs Frere HEohe T FPo3sSE J6?
Options :

Transgenics

LT ELE
- [ 18

1. ®

Narcotics

B s
Pt &) d-_é:\s;
2. %
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Logistics

3 F4 ﬁnﬁ?‘!‘?%

DNA finger printing

Edbae Lol Dofoh
4. &

Question Number : 37 Question Id : 4387197397 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Indian Government has set upthe following organization for validity of GM Research & safety for
public

U [Hehsio T PHoSwaS ey wdBed 08T oakn Ber ¢flFE Sowod Bo¥ 267

Options :
GM Committee

2ah5 ¥008

Genetic Engineering Approval Committee

ED65 zoelooh uFrss sl

Biotech Committee

oTrEE 508
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Monosanto

4 % RS ol

Question Number : 38 Question Id : 4387197398 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The entire collection of plants / seeds with diverse alleles for all genes m a crop 1s
called as

&8 Hob Kogodd BN TEsHues o aby Sndo Feo/DEStue DESHH wolrt?
Options :

Species collection

sPde DY

Genes collection

Perdeo HE8s

Diversity

B0
3.%‘%

Germplasm collection

Beaiissss S
4 o Delsss Bbe
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Question Number : 39 Question Id : 4387197399 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Embryoidsthatdevelop from Somatic tissue are called

FEEE Snrory TR @ﬁfgfg Joth Jo@dirongid nor wolit

Options :
Callus

IQEDEE

Somatic embryos

, o Fer8E Sopars

Embryo

motio
3. %

Cellloids

= LI .
RIERE° 000 B
3

4, %

Question Number : 40 Question Id : 4387197400 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Process of developing hybrid plants by the fusion of isolated protoplasts.

=y ) a = -y [
o HEDS @ﬁéﬁgaﬁig S Hod@ri B89 TR Fwgud PNk Foke (H8D
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Options :
Cloning

Mutation

5203 e

Somatic hybridization

3.9

Fusion
4' H . T

Zoology

Section Id : 438719151
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 41 Question Id : 4387197401 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Dynamic constancy of internal environment of an organism 1s called

28 £ B0 & wodddorr JVER) (32 VOS] DEAD

Options :

Mutation

ELNCRIERIY

Speciation

TV GG

Regeneration

DA

Homeostasis

fﬁﬁ}mﬁr@ubﬁ / :a;ﬁaf‘ge:a

Question Number : 42 Question Id : 4387197402 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following hormones secreted by kidney during deficiency of oxvgen
stimulates the bone marrow to produce more RBC 7

68085" L3020 60 &) D& Jrdhotio PVt D wt’féﬁ DOBE SET L RS
&8\ 83 DS B D0DWR?
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Options :

Renin

B

1. ®

Carbonic anhydrase

S8\95 35 768
2. % =

Erythropoietin

DB Jrowedd
3. ¢

Adrenaline
(DTN
.

Question Number : 43 Question Id : 4387197403 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which muscle 1s described as functional syncytium ?

80331 S DBADO T D SodTR) DEYotre>?

Options :
Smooth muscle

, ROROY Sotion
1.
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Unstriated muscle

, % ©0DS Socdan

WVisceral mmuscle

9o o SoliGaa0)

Cardiac muscle

G030 SotGa0
4. ¢

Question Number : 44 Question Id : 4387197404 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Hemoglobin in man is made up of

AR FAFHDD & ol o7 FoES BoHed Sotod

Options :

4 Polypeptide chains and 4 haeme molecules

L4 FVDDoOWE Feninen S8030 4 2720 e9radd)en
1. =

2 Polypeptide chains and 2 haeme molecules

5w 2 FODHaE Fenien Hdodin 2 o S SR TLAOE TN
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4 Polypeptide chains and one haeme molecules

- FODHoNE Fentoen H8osn 1 7 W)

2 Polypeptide chains and 1 haeme molecule

L% 2 FODDoNE Fendown HB80En 1 75 B

Question Number : 45 Question Id : 4387197405 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following are found n platvhelminthes?

& S0 TS T ::"E}éoﬁsfa 2ees’ 8ot VLT D7

Options :
Colloblasts and comb plates

£'¢5° erdney SUB0IL SoT 6 DUTTLD
1. % COmE

Psendocoelom and Renette cell

. 3.1}{;5“?5 2006 LIPGH0 S0bain 88 S

Green glands and statocysts

B fodden Hdodn i hiven
3. Q £ £
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Ladder like nervous system and flame cells

bﬁtﬁé 03576 A (R S0Bosw 2P SgFe)
4.9 ok

Question Number : 46 Question Id : 4387197406 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which scientist 1s regarded as the pioneer in the field of systematics of invertebrates 7
D TRIBD VSIAS H0ECS” FATCS JHoDDLTT (Bt ?
Options :

Libbie Henrietta Hyman

v 9y AchEr D

Heackle

, % T3S

Leeuwenhoek

925 158
3. %

Robert E. Grant

oreod E. trotd
4.% =

Question Number : 47 Question Id : 4387197407 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which hyvpothetical larva is considered as the ancestor of all Echinoderms?

QDS LT oSO D 0OSH\D CopT) DBARI?
Options :

Pentacrinoid

DotFrST o0

Bipinnaria

Areishfelenty

Echinopluteus

- IBIPPOHDD

Dipleuwrula

Gaaooer
L Ceadd"

Question Number : 48 Question Id : 4387197408 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Respiratory pigments found in Annelida are

o2 5° £DDot TR HOTW

Options :
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Hemoglobin and haemocyanin

TATHDD H0BOIV T OIS

Haemocvanin and chlorocruorin

FAT DO 8ok EFHHBD

Hemoglobin and chlorocruorin

FAFHDD Sodoin T LHBD

Hemoglobin and vanadium

FAFHDD S08akw DAL

Question Number : 49 Question Id : 4387197409 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s exclusively marine and considered as scavenger
(feeds on dead or dying fish)?

BAT 00D BHOA ot 5“&?.1::&:.5 é:}aﬂ:};t Ao 6o 2D

Options :
Hag fish

L 36 D
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Lamprey

y o)

Lung fishes

&I B

Latemaria

o % e a0basr

Question Number : 50 Question Id : 4387197410 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the tollowing 1s a living fossil in Reptiles?

POV T LS RS Iz
Options :

Archeopteryx

e58) 03T 20s
-

Limmulus

8m5a5
2. %
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Sphenodon

3. ¢

Dinosaur
4 % &S5

Question Number : 51 Question Id : 4387197411 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following set of animal exhibits discontinuous distribution?

& So8 TS D BB DYDY VGV DB Fa0?
Options :
Ratitae birds and Lung fishes

| v T8 DO, ErBBS BHW

Ratitae birds. Frogs and Salamanders

o8] D50, Sre{IUblelouty Fre 20700

Prototherians. Frogs and Salamanders

JEHOODA, SD A0 JBOIW FVATEW

Penguins. Lung fishes and Salamanders

20Dy, EPdOBS BHLO HBOIL FreET ot
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Question Number : 52 Question Id : 4387197412 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match the following. The correct combinations are

List - 1 List - IT List - I11
a) Cryptomonas 1) Pantonematic p) 1 row of lateral
appendages
b) Polytoma 11) Stichonematic q) No lateral appendages
and ternunal filament
¢} Euglena 1i1) Acronematic 1) 2 rows of lateral
appendages
d) Monas 1v) Anematic 5) Ternmnal filament
BoB ED Es5D, 558 SErgriod dobs Sabod
95-1 05-2 95-3
5] -] ]
a) Bfaral i) SroFQs-88 D) a8 S&S PYRRTYETe
b) aroets 1) 250585 q) RErIT e,
EO%JO&&- anotisy
c) ol i) LS 585 1) 2 S6%E SR
d) Sr=7h 1V) wfsras s) wodidodD

Options :
. (a—1ww—t)(b—1m—-p)lc—11—q)(d—1—5)

1
. (a—1v—s)(b-1ui—q)(c—ii—r1)(d—1—p)
3'\;’,(a—iv—q}.{b—iii—sj.(c—ii—p).{d—i—r)
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4 % fa—iv—p)(b—-ui—-r)(c—1u-s)(d-1—-q)

Question Number : 53 Question Id : 4387197413 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Undulipodia are

eREmOPitdr of D80 buwark
Options :
Flagella and cilia of protozoans

L PEE e ddo Seere S8k T0%w
Cilia and pseudopodia of protozoans

-

5w BPEESE 305w S0k WErEres

Flagella and pseudopodia of protozoans
3 % |REP S ESe Savgren SBako ogrgaRTres
Pseundopodia and myonemes

4 % DEErTres B8d S@rhSes

Question Number : 54 Question Id : 4387197414 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which of the following is not correctly matched ?

1) Biological vector — Female anopheles mosquito
1) Facultative anaerobe — Entamoeba
1i1) Smart parasite — Plasmodium

iv) Mechanical vector — Cockroach

1Bod T8 e HobY

1) €570

— a8 JhOh &5
1) 2508 wardiedd —  otiver
i) = €D = palenls
1V) cirol@sizirde — oY
Options :
Only (11)

L (ii) Sr|gad

Only (iif)
FROE

Only (1v)

3 ® (11) ﬁ“l‘ﬁi‘

Only (1)
4 % (1) 878
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Question Number : 55 Question Id : 4387197415 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In parasitic castration

SorHds RARE

i T

Options :
Gonads of the host degenerate

1.«

Question Number : 56 Question Id : 4387197416 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which of the following statements are correct in relation to Wucherarna ?

1) It is ovoviviparous

11) It completes its lifecycle i man and female Anopheles mosquito

111) Both male and female worms are found coiled together in the blood of man
1v) Micro filaria larva is surrounded by a loose cuticular sheath

v) Micro filaria larva moves to the peripheral blood circulation of man during the

night tume

SSErS Honcbod (BcbTES” #ES (Hed L0?

1) 38 wodddranis £

i) 26 &5 £a83R) SrdHRs’ Dok ol ATHIR s’ TrodhFHk.
11) -850 5508° &, H5iddw 5T w58 BOTHTD £20w.

1v) SIS 3T Soglo Har SHES wierhd Flib votod

V) @L%’E;Eéﬁdﬁr GogiSo TS Hsuchod® SrsHd a’:ﬁéiﬁsﬁé ;{:Eﬁﬁs@ﬁﬁ aotnod
Options :

Only (1). (11) and (111) are correct

(). (i) wects (i) Sme wps

Only (1). (iv) and (v) are correct

) (1). (1v) Secss (V) Sriga £330
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Only (ii1) and (v) are correct

- (111) Sobcko (v) Srigs 8839

Except (1). all are correct

L (1) 85, WADSD )y ¥B5D

Question Number : 57 Question Id : 4387197417 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Anti cancer diug

E‘*gﬁ;,ﬁ BAL=E =Y &6 Bhdo
Options :

Hetrozen

Eril (]

1. ® i

Aureomycin

= =8 =
l’é;ﬁ"‘g.uwﬁ

Methotrexate
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Isonicotinic acid hydrazide

m

o DRFISENE sy E

FEi

Question Number : 58 Question Id : 4387197418 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not correct related to Wuchereria ?

o -z} e )
|Bot &S esdbdird Sowobod HETRRL?

Options :

Its secondary host is female Anopheles mosquito

ot JTHIRE D HI8 B udFon

It is commeonly called filarial worm

FErdsmont &R0 TECHS 3 oty

It 1s a digenetic parasite

=6 Breddch STrddED
5 x PR Y=8g 2

Pseudo coelomate

L% oD

Question Number : 59 Question Id : 4387197419 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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Time : N.A Think Time : N.A Minimum Instruction Time : 0
Match the following

LIST-1I LIST-1II
1) Photoperiod a) Response of organisms for the photoperiod
1) Circadian rhythms b) Biological rhythms repeat every 24 hrs
111) Circannular ¢) Duration of the light hours to light in a day
rhythms
1v) Photoperiodism d) Biological thythims repeat annually.

BOBTEN =SBHDH0
I

D o- 11
1) 5085556 ) a6 wibuomr £8 Srh Hoss S
1) $58chSudhes b) 24 Hove Togest S Bodhen
111) g S dben C) e.568%d* ufod Tossesiw
1V) o8 e d) s gosgso BEgSsay ddudbe

Options :
o (i=c). (i —b). (ifi - d). (iv —a)

L o (=), (i—c). (i —a). (iv—d)

. (1—a). (1—c). (1 —Db). av—d)
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4w (—a). (o). (iii —d). (iv—b)

Question Number : 60 Question Id : 4387197420 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statements are correct in relation to winter stratification?

i) The upper water freezes when the temperature reach 0°C.

ii) Below the upper icy layer. the cool water (4°C) occupies the lake.

1i1) At lower temperatures. the rate of oxygen consumption by aquatic animals
imncreases.

1v) Organisms cannot survive below the frozen upper water.

fame Fgéqfsjéo % domobod 308 TEE° I8 [Pludes 22?

1) aifuss 0°C % Sesns asese % Hdenkos

1) 2oy Sohddo 308 Set bk (4°C) wodns eEmibod
111) 855 @ffifid 38 moddos® odal JErRcden BWHIHD

IIV) FohHessso Bobd &ma‘i@toéaé% a5650068% £ SHE FRETH
Options :

Only (1) and (iv) are correct

% (1) Sease (Iv) SrEd #8590
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Only (1) and (i11) are correct

- (1) Sbafe (ill) SmEh #3852

Only (i1) and (1v) are correct

3 % (i1) Sbcse (V) &g $B50

Only (1) and (i1) are correct

4 (1) Soce (i1) S 48350

Question Number : 61 Question Id : 4387197421 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The enzyme present in RBC
JABBE Bered® Hot JoBS
Options :

Angilotensin

Phosphorylase
3 % Fhees
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Carbonic anhydrase

3 = = R
6N0E ISTES
a7 i

4. &

Question Number : 62 Question Id : 4387197422 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The transverse groove that separates the Atria and Ventricles is

1iy

S

$e8ud =8tsud IHTir Hokd ©

£

Options :
Auricular appendix

5
1. %

5U éodirso

ao

Coronary Sulcus

48558 % a:@rﬁ
2. ¢

Interauricular septum

Interventricular septum

4% 280508 mrh

Question Number : 63 Question Id : 4387197423 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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A small pore present in the inter-Atrial septum of the fetal heart 1s

SOk EE $05P080 Sherll Sy 3% Soltio

a2}
Options :

Fossa ovalis

e e.Pin

S A node

Foramen ovale

Poems aad
3.¢

AV node

2050 2885 Scwdd

Question Number : 64 Question Id : 4387197424 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Renal failure is typically detected by

o = T T LT Lo FrEt ol '?
E',::l,égr Eq‘ﬁﬁé‘{j‘ o 5':'&{1_' g@ﬁ_ﬁmtﬁ.{: .

Options :
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Inflammation of glomeruli

5% T8 o T8 &

—i

1. ®

An elevated serum creatinine level

$50 [Bair8RS Aron &° wkibde
2. ¢ @

A1 excessive amount of urea in blood

, x %0 & wfs ~pow aErBaie Hotieo

Formation of stones in the kidneys

é&:“l;ég}ﬂf?ﬂﬁa b 3&5(:,;‘56:@
4. %

Question Number : 65 Question Id : 4387197425 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Larger influx of sodium 1ons into the nerve cell is called

fhddho wodbribes b ﬁoa‘.@@s rbdmo 6°8 (HEohed Lotr,
Options :

Depolarization

L% ﬁj@,n‘ﬁe&o
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Action potential

5 % Ewgie

Re polarization

- L Pt %&E;a‘i;;

Positive feedback regulation

. FTEE ?;:Ee:caqg Dabo|des

Question Number : 66 Question Id : 4387197426 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following protein can convert chemical energy in the ATP molecules in
to mechanical energy?

Bob &S° L (FP65 ATP vwmde %0 §Pasd88 O drol8588 m Srdifo ?

Options :
Actin

| % © a5
Myosin

1~y
2. \.‘.‘_4/""; E:‘:UEU {'-\.l-ﬁ
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Troponin

N ol
3.

Tropo myosin

4 (FFHERS

Question Number : 67 Question Id : 4387197427 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Erythropoietin is produced by

B|GFrondS B L8 [HA%Hes?
Options :
Liver

Pancreas

Kidney

3 Sr@Ebotisn
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Spleen

Question Number : 68 Question Id : 4387197428 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Identify the characteristic features of the cretinism disorder

B8lezo olhd ﬁxé@, e blodol

Options :
Gorilla like face. dry skin. thickened nose

e erof Supo, @E&dtﬁé@. ey sy

Stunted growth. mental retardation. deatness and mutism
) DEIHSe %80, Sshy drogie, WRE - SrdESso
Irregular menstrual cycle. stunted growth, Abnormal eyes lids

3w SwsdEo BEsonr S8isddo, 2Ghhde %o, wrgdn Skibd.

Darkening of the skin. High intelligence quotient. long limbs

G0 dgative, ©fS wb V58, PEES - vorw

Question Number : 69 Question Id : 4387197429 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the Gonadotropins among the following
8ol &S FSET SRS o Hloiics

Options :

| » FSH&LH

, » GH&LTH

TSH & ACTH
3. ®

4 % LTH & MSH

Question Number : 70 Question Id : 4387197430 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which vaccine is produced by using genetically modified yeast?

=igRCss SRk eld@rhod & B8 & adg TTw?
Options :
Polio
| & Poar
5 % BCG
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Hepatitis - B

ey TR A T
AR e B

3. ¢
Covaxin
SaraS

4. %

Question Number : 71 Question Id : 4387197431 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the symptoms of Cushing’s syndrome

g0l LolEfS Qs vEreil HEodod.
Options :

Muscle weakness. fatigue. dry skin

N dofitre mubrdd,  woodé, grldtc
1. N

Moon face. Buffalo hump. Pendulous abdomen

W do|lton Swpo, S5 SardBo, ol afdo

2 g
Puffy face. dry skin. enlarged eyes
3 % Qi Hogo, @D&ﬁﬁ@_@. [F[lotArS é#@
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Weight loss, intolerance to cold. fatigue

L% Eola Vi) %Eé’i:,:“éé;o. $Ha8 éé::..ﬁ%é gPado, oode

Question Number : 72 Question Id : 4387197432 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which is not correct about untreated STDs 1n women?

DEBy S0t Tohs VoY), Trjeowd SHAD Q0 (180D & S0 TAS” DB D/

5°G07
Options :
Untreated STDs cause pelvic inflammation

- DS Tedot D) STDew Fed To)a0 $HAFaw

Untreated STDs cause abortion

D83y Feor D) STDW K6y Frdo SLOAEIan

Untreated STDs cause still births and infertility

DEBy S0t PR STDew B0y 2T 0B8N Hogde SDAITaw

Untreated STDs do not cause ectopic pregnancy

WSSy G0t D) STDW e (1666 £DAod)
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Question Number : 73 Question Id : 4387197433 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is a correct sequence of regions of epididymis?

DDEEDD CIVE), LPTOL Rotodow) & Sod THS" DTD E20A0 AE?

Options :
Caput epididymis. Corpus epididymis. Cauda epididymis

- 3G DDAZID, D063 DD TN, DBy QeI G a0
Corpus epididymis.. Caput epididymis. Cauda epididymis

S0Q] DDEED, 38 JDEED, Iy DDEEID

Corpus epididymis.. Cauda epididymis. Caput epididymis

B0Q] DDEEDD, YDy ADEEDD, 3T DDAED

Caput epididymis. Cauda epididymis, Corpus epididymis

8 DHEDD, DSy IDEND, 65 IHEDD

Question Number : 74 Question Id : 4387197434 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Assertion (A): Ammiocentesis is used to detect abnormalities in foetus

Reason (R) : Government banned use of the ammniocentesis for the purpose of sex
determination of foetus

TGS (A) : GUy GBI DOLA HDokod’D &IV SAFIEIS GDAFAY®

s~Gese (R) : DEB0 & ey GO 8L Dodo Bor‘ifﬁg’dﬁ g0 &DAT HotdT= Ay

DaaBotod
Options :
Both A and R are correct and R is the correct explanation of A

A 2008030 R e Todiar 20 220025, R 0996 A & 20 2002 2506

Both A and R are correct and R 1s not the correct explanation of A

A 2008030 R e Todr 20 25004, R 2938 A & 20 0005 D566 5560

A 1s correct but R 15 wrong
A TS R 20/E e

A 1s wrong but R is correct
A 20 T R 280G

Question Number : 75 Question Id : 4387197435 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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What is the ratio of vestigial winged. gray body flies in F> generation of T.H
Morgan’s experiment?

T.H. 250D D001’ F; 8608 095303 0%),e0 HB050 ardsd H0 o
soons SOA0 Ppo VG Jod?

Options :
1. ® Fo

s x 116

4. % 99

Question Number : 76 Question Id : 4387197436 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which is correct about heterogametic sex determination?

D Poddrd eﬁﬁaﬁcﬁsa A0Bot) DA HBeoHE?

Options :
Males produce dissimilar gametes in male heterogamety

1608 D DodBrridz of :)gcseaeﬁ‘ B8 Lyen Gotd st Day Serodd

- G\ IO
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Females produce dissimuilar gametes in male heterogamety
2R D BodiriDz Do ATEeS’ © 2ew ot 6570 D STV &S
5 % BFTO

Males produce dissimilar gametes in female heterogamety
2 D1 Roairtdz Do DTS’ AR YL Totd S50 D2 STOR &\
BI°0D

Females produce similar gametes in female heterogamety

23 DN RocIrrd Yo DT GRS 9 e 28 6So D STV &d Y B ow

Question Number : 77 Question Id : 4387197437 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a diploid organism. how many genotypes are possible if a gene has two alleles?
GO DA 20S" 2.8 20§ Toce) o8 DS VR £OH Dot AV amédyb‘*w
DO\ EVRD?

Options :

3
1.¢

2. % 5
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Question Number : 78 Question Id : 4387197438 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many alleles determine Rh phenotype as per Wiener hypothesis?

DDHE DBSLD D5Go Rh &3] S0 ) oo DS .i'.}g“&@"m::?
Options :
L% ©

2. 8

Question Number : 79 Question Id : 4387197439 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Oncology 1s the study of

50502 IO GBI VE[CD B FTRo?
Options :

Birds

| w 2B
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Bones
5 % SRS
Tumors
3 @ Sedehoen
Teeth and Gums
. GoTren 8oL WdHY,

Question Number : 80 Question Id : 4387197440 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Enlarged P-wave

260 P-e90édCo

Options :
Indicates normal atria

Jorces SV ALt

Enlarged atria

DEBD €82 LrdetA
2 o5 B
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Indicates myocardial infarction

| SVOTETEAS 2R05ED 8 Rrdotiod

Indicates hyper kalenmia

33706 5HDOITR AFDRS

4, %

Physics
Section Id : 438719152
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 81 Question Id : 4387197441 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The scientist whose major contribution is towards the measurement of electronic
charge

VT I DFo DD FVDEeS” DIV F@ T2 TRII

Options :

Ernest Ruthertord

, SSgarad g

1. %
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R. A. Millikan
- 6. . WIS

James Chadwick

- 32%533 m&gé

M .N. Saha

Do. DD. FEF
4. %
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A particle is moving along straight line. If its location at time t 15 given by

=it = ate /T ca=1ms.T=1s. The velocity of the particleatt =2 s 15

e VOV B Dowc WD) w8 Swo AIg), g“a‘:o (x) 5o (t) DGorr
x(t) = ate TTia=1ms 1=15s Ardemrd. eond t=2 s SG Seso AW,

o0

Options :

-1 1
— ms35

= ik g
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A cyclist is riding a bicycle with a speed of 35 m s from north to south. After
sometime rain starts falling vertically with the same speed as of the cvclist. How the
cyclist will hold the umbrella?

28 2807 35 ms SEE 28 PES P &dto Aol Gt PR VATV . Fod
Two BT & DSAD Do AL JLVPTT DEWIAS DIAFID JES DERS.
2003 PEW FEMA D Do DEEDIHT?

Options :

30° with the vertical. towards the south

L DenNE 30° Erro BAT L0 DN

459 yy1th the vertical. towards the south

, v OB QeSS 457 oo B, Biio DINAD

30° with the vertical. towards the north

L% V8 DS 30° o BT, &G0 DIPAD
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45° with the vertical. towards the north

L DenE 45° o BT, &S60 DIPAL
4.
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A projectile needs to be launched such that its maximum height should not be more
than 20 m. If the maximum initial velocity of the projectile is 40 m s™ then the
horizontal range 1s nearly

[Acceleration due to gravity =10 m s77]

e PEDT) VBRI T ABR B0 20 m A QoEraw. = 0 S
D630 40 m 57 and & DEDHS WE), L8R DITSE TR

[Rocoesy Sq6eas =10 m s

Options :

| % 1456 m

, % 118.6m

3 138.6 m
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Assertion [A] : A boy feels more pain when he falls down on a hard concrete floor

than when he falls on the sand floor
Reason [R] : Every action has equal and opposite reaction. The time of impact of

cement floor is smaller compared to that of sand floor
POV (A): 2,8 ered BRVE DVP DA ST e ST A DVots Jep
DA ASD PG VAFII
sedes0 (R): 25 ©36) S0 DATH0D H{S0S 00| oo, QRS Sed ﬁﬁﬁ}ba‘} Pa0oed

QL PTG STV BLYD
Options :
[A] and [R] are true and [R] 1s cotrect explanation of [A]

[A] S8 [R] e dedgaoen ddatn [R] [A] € 08ghd Dades
1.¢

[A] and [R] are true and [R] is not correct explanation of [A]

L« [A] 208050 [R] e 2330000 208050 [R] [A] € R8G0S D36t 6

[A] 1s true and [R] is false
- [A] RS0 [R] IVB[D0

[A] 1s false. and [R] is true
L% [A] Eﬂ“@@é&ﬁn[f{] RS0
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A circular race track of radius 240 m is banked at an angle of 45°. If the coefficient
of friction between the wheels of a race car and the road is 0.2, the maximum
permissible speed to avoid slipping 1s

[Acceleration due to gravity =10 m 5'2]
a“?gfﬁ“gc 240 m fdo 28 J;Ts™6 TRw &S cws), (o Eeahn 45°. Tro 57, H0D

D06 des EISe 0.2 O , ORI GoEILIS), STEIS BAVVBOD BICAD DE

[Aodoedg ScBeadon =10 m 57
Options :

1

| % 40ms
1

) 60m s
& 1

3 % 72ms

1
4 % d0ms
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The ball initially has a velocity of 5 m s in the positive x-direction and some time
later has a velocity of 7 m s™ in the positive y-direction. If the work done by the ball
1s 48 joule. then the mass of the ball in kg is
08 wod Twse SmsT &5 X- of 845° Hoa Fod HHako Soud Tms’ §5 y-of
64E° Froik 500 dob. © o8 UhS 50 48 FS wawd TR (KHoe kg o
Options :
w29

. 6.5
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Two bars A and B each of mass 100 g connected by a light spring of spring constant
10 N m™ rest on a horizontal place without tension in the string. The coefficient of
friction between these bars and the surface is 0.1. The minimum force to be applied
mn the horizontal direction to bar A in order to shift bar B 1s

58 100 g (55078 o A Hedn B =7 ot é%w 10 N m” Epoh Rorosin e a8

Q.

935 (Rof & 858 T%or Shed, ¥ 38 Hirods duop MU & a0, & So708,
& y e ” "
sto% gy Pl Heso 0.1.38 Bl Shenwd 38 $Srodtor A 563 (BErhod Sobi

oosn Sl e
Options :
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| % 0IN
5 015N
; % LIN

4. % 15N
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A thin circular ring of mass M and radius R is rotating about its axis with a constant

angular velocity ‘w’. Two objects each of mass m are attached gently to the ring on
either side. The ring now rotates with a angular velocity

E5gore M 0k merdsin R o a8 dwdl Heesd Cof i sgdn ddom &Y Foch Drise

‘W E BBLEDHD. FH ‘m’ (Eaiord e Do Sduped o Sofi ® stZHer éﬁ@é. 1S Foc

e Boh 867 Sdah e
Options :

()
— | w
| % M+m
(M—Zm
) M-I—Zm)m
(M-E—Zm)
3 % M-—2m “
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M
4. o (M + 211.[1) u
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revolutions

A wheel rotates with an angular velocity of 420 when power of 660 W 1s

minute
transferred to it. The torque acting on the wheel 1s

Psgio 660 T8 woBolSHS, o8 SEEn 420 Fiere/Dindhn Fdah B’ shnHRe.

L% 125 Nm
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3 . T . . . : .
If y=—(sin S ttcos— t) cm represents simple harmonic motion. the time period of

V2

the motion 1s

3 g ik T
y=—(sin —t + cos —t) CIN #6¢ Fods dom SFEN0DS, D SU G55 o
= 4 4 @ ; =
Options :
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1&;85
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A block 1s executing simple harmonic motion and its position 1s given by

x = A cos (wt +d). At time t = 0. the ratio of the kinetic energy to the potential

energy is % The magnitude of the phase angle ¢ 1s
REY TPOB) S oo BOIVWOR) w8 B FHI0 X = A cos (wf +¢). DAvaDo
t=0 28 @A (8235, DORIS © 2G| NS % 900D GF° &0 DBATM0

Options :
L% 60°
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Assume a planet with orbiting radius, R and period of revolution. T around the sun
experiences a gravitational force which follows inverse cube law instead of inverse
square law. In this case. the period of revolution 1s proportional to

S T{Frgo R 0803w 56357 wo T & Araof st DOZRMDVY 8 (57

OS] were 56 DG oIS L 20 DS JoDNATY) BAVBRA.

& "racddgjﬂ?_':f, BI0IT Vo 9085 AT AT Heed” SotHIE

Options :
1
1. ® R
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A piece of metal having a square cross section of area 400 mm® is pulled with 40 kN
force. producing only elastic deformation. If the Young's modulus of the metal 1s

40 x 10° N m= then the strain is

400 mm’ SSEFG 2RWGS PTVjo (v wE G Jwe 40 kN A0
Sdwo %@2“35 DB DotDILL TTTEd. S7iFy oeh Mmnse 40 X 107 N m™,

9008 DSyB Dewd
Options :

3
L% 1 x10

3
. 1.5x 10

4 % 40% 107
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A container 1s filled to a height of 20 cm with water. A 30 cm thick layer of o1l with
specific gravity 0.8 floats on the top of water. If the density of water is

1000 kg m™ and atmospheric pressure is 1x 10’ Pa. then the total pressure at the
bottom of the container is

(Acceleration due to gravity = 10 m s™)

208 FS 20 cm DB 6L DS odedod. VO DD 30 cm Voo Sdasw 0.8
DY HEBo (10 AXD TG e 8. DS Fro@d 1000 kg m™ 2o8aiv

TT O DEDe 1X10° Pa 09008 F S8 eFTR God Do 6 Do

(mme:{g S Cese = 10m 5'2)
Options :

1.044 % 10° Pa
1. ¢

, % 1.24 X 10°Pa
; % 1.062 % 10°Pa

, x 1.15 X 10’ Pa
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= ; ; a i ; ;
If a water drop of radius 2 cm breaks into 10° drops of equal size, the work done is
about

(Surface tension of water is 72 X 10° N m™)

2 cm TG0 (L 28 D Do) 107 DATIRD Docpenr DET o, 2883
D AT

(DS dosds = 72 X107 Nm™)
Options :
| % 15007 % 3§ Rl

, % 1800 x 107%]

, o 1150w x 1074]

4 % 10007 x 1074]
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If we consider a rectangular sheet of the solid. the coefficient of areal expansion is

208 20D DY &g BBOGTTG DLS BR0S0ES, E}fgg D“é%ﬁt‘.ﬁ roEgA0

Options :
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Half of its coefficient of linear expansion

= @Y T8 eegods” IS DdDo

Thrice of its coefficient of linear expansion

= 3% T (55 IE DT BED Gotodd

Twice of its coefficient of linear expansion

= 8% T8 0895”3 Bodl BEW Eotwod

Square root of its coefficient of linear expansion

3% TS s DY urerdd RArde
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A gas in a closed container undergoes the cycle ABCDA as shown in the figure. The
net heat absorbed by the gas after it has completed 20 cycles 15

QFIED) TS &) WS TOINDY DL WPHR Do B3k So°go ABCDA
D SR Tehod. & A0’ TAIND 20 WETeL JFd DI, ToIVY Fie0

B2 L6 &o 3
(Nm*) 4 . . G
40 |-
30

20

10 |- -4

2 3 10 15 120 25

(m)
Options :
Lo 50k
o % -3.0K
2w H25K
4% -2.5Kk]
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A Carnot engine operates between heat reservoirs differing in temperature by 80 °C.
The efficiency of the Carnot engine is 20%. The temperature of the cold reservoir 1s

28 58) abogdaw 80 °C &J0d SO (0 To &IIOWIAVL G| DD
Do) &. &8 58 oo g, GES 20% a0 B & FODAN WNE),

& 0S
Ea

Options :

| x 0K

, % 400K

4 v 320K
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A flask of volume 0.1 m® contains He (monatomic) and O, (diatomic) gases in the
ratio 4:1. The flask is maintained at a temperature 27 °C. The ratio of the rms
speeds of the He-atoms and O,-molecules 1s

(Atomic mass of He = 4 amu. and oxygen = 16 amu)

0.1 m’ 2080BATR0 (o wE Fho), & 4:1 JiGS° He (D8 Dodres) obain
02 (BLDOATEWE) TAVPL SVRY. &8 TR 27°C &T(d 5@ €IS,

He — 29600200 200050 O 2600 Alws), mms Sow IS

(He Do0e0 @5(0°2 =4 amu, €352 DEDTED G502 =16 amu)

Options :
) ® #71

3.\;?2\16:1

4. % V2:1
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A point on a taut string is moving up and down due to a wave travelling along it.

The point completes 120 cycles in one fourth of a minute. The frequency of the wave
1s

DDBIT (10 28 TG0 Dotdl. DAITEINAY 2.8 Bbofio DV Trle D w8 DotdY
23, 8068 Scen . IS’ TS Dot VAODES” & Doty 120
SoDnT e PG VA, Sboro ANE), ﬂ‘éz@éﬁo

Options :

, % 120Hz

3 % 300 Hz

4 % 330 Hz
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‘ . 1 . .
A concave lens of focal length f produces an image — times the size of an object.
X

The distance of the image from the lens is

1
;% TB{0ddo (L S DEFSE SWSo DRV D0ATEFIS — B &) DOVt
X

g)ﬁ;}daéﬁ. )80 Aod DEDotio TG0

Options :
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xf

| % %1
2. %
3. %

4, %
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A car is approaching a factory siren that has a frequency of 510 Hz. The speed of the

sound in air is 340 m s, If the apparent frequency of the sound as heard by the car
driver 1s 600 Hz. then the speed of the car is

510 Hz :"’J"a;;‘g_*;;b?gc (e 208 8T7 0o A0S, VO PP W TD ﬁi}ﬁ:ommm;lﬁ:.
mdS” & HE 340m s e T EA® DR0WR) LI TG, BT TR

600 Hz 0083, 5260 S
Options :
| 60 m 5'1

) % 33.3m g
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3 % 205m g

4 % 20 ms™
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A small ball of mass 5 g is suspended by a string of length 20 cm in a horizontal
uniform electric field of 1 X 10° N €', If the ball is in equilibrium when the string

makes an angle 60 with the vertical. then the net charge on the ball is

(Acceleration due to gravity =10 m s7)

1X 10° N C! a2 2a0ross DA ES08° 5 g @30 (o 28 DAY 203 20 cm
T (0 TCed Derddud. £82 wowod wrdo 60° Seo TRVD) DV wod
R2ETABS” Gol.d, Lol JEC %o

(Aodoesq &qBeo = 10 m s~)

Options :

% 52.5 pC

46 4 nC
2. # '

3 % 96.2 nuC

4 36.6 uC
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; ; : ; . i : . B =i
The electric potential at points along x-direction is given by V= (1.0 Vin") x". The
electric field at point x = 5.0 m on x-axis is

X - 9550 D DoPY HE JES ¥ a0 V=(1.0 Vm™”) x° e000& x - ega0 P
x=5.0m 3¢ 3:&35& ES ao

Options :

S |
L& -10.0 Vm

b -1
% +100 Vm

2
S
=50V m
3. %
4 % T30V m™
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Two charges q; = 4X 10° C and qQ=—2X 10° C are separated by 8 cm. The distance
of the point from q; on the line joining the charges where the potential vanishes is
(Potential at the infinity is assumed to be zero).

qi = 4X10° C 08cs0  qp=—2X10° C 53320 $IAR Tocd DaEdTen 8 cm

BIrGess” D BODLIEDD. €3 Golotd 06§ DTS IS A0 HPRERM Doty q

Aol Eot) AIrCIAW.

(e9dochad00 56 bmée‘:‘a FS] 00 AP0 LIRS DG DA

Options :

8
— cm
3

— EIn

— CIN
3. & 3

16
— CII
4.4 3
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Currents flowing through two conductors of equal resistance produces 9 times more
heat in first conductor compared to the second one. The ratio of currents flowing
through the first and second conductors 1s
RIS EGIL Ao Boddd DS TirErees” DS DITITAVY JVD 2068
TGl &S0 VoD GRID Todtd TIPS GG WOV &GRIVD 9 T
€200, 200G HB0IL Todd TrEwd” IS DITTL IS

Options :

3%1:9

4 % 21
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If each of the resistances i the circuit i1s 10 ). the resistance between terminals A
and B 1s

200D DA G0 Jend 10 0 o, A daiw B DododHw B0 2O

JF G0

Options :
RS ie!

Question Number : 109 Question Id : 4387197469 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

94/135



7/11/22, 3:50 PM
The magnetic field at a point inside a long current carrying solenoid compared to the

magnetic field at axial end point is
w8 TEDD VDTrand S0 Doy HG oI od Edo. TITowE L0

D50 DoY) HQ WADLI) 08 ESAVIL

Options :
half

lgg‘rbﬁc

twice

5@95@)

same

Fo P bt Tet

four times

ey Sew

Question Number : 110 Question Id : 4387197470 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

95/135



7/11/22, 3:50 PM
Statement (A): The restoring couple i the moving coil galvanometer 1s due to the

current in the coil
Statement (B): Wires of magnetic field around a current carryving straight
conductor will be circular in a plane parallel to the conductor
Statement (C): When a charged particle enters a uniform magnetic field. its kinetic

energy increases

POBIOW (A): BDOBRRD WU&SI&T&SM 5" 2 gﬁ’:s gr0So o’ feo
3}@5& DT TR0 HVAD SV

DIDHDA0 (B): 3@55 DT ITAN AL W8 SR A TETSIAW LT &) e_acm&‘gjcej
20 SR & TETEANIL DAToBCOTT &) Swdnes”

ST T GA0S” GotaR)
POBHAW (C): 28 &5DIS Se320 DSOS WO 08 ES0S” PIF VLD &

Sead0 CIE), (32 33 DD

Options :

A, B. C are true

A B.Cen "n:e:ﬁéc

1. ®
A, B true. C 1s false

A B “.-cez’svgo, [ % 'E‘.‘Z?”'rb?fgflc
2. % El
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A. C true. B 1s false
AT Fce:’sl?So, B ?ﬂ"n}i@(‘c
S Z

A, B. C are false
L A B.Cev e::“n::e:-:_sa
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Relative permeability of diamagnetic. paramagnetic and ferromagnetic materials are

i

denoted by p™™. ui* and p™ respectively. Then

Co3E, FT° B0IL DY o) o DT FoE ::B&ajaihﬁﬁw Folobtalon

Thie .uf“ 208030 urFM 29020

r

Options :
v HPM - 1’ jJ_P“J:T’ 1,. “F’k{ 1
DM M FM o
) % It L4 p s
- Toga (Mg % (Tt 5 |
oo 1 Gt < B Thigs & |
4. %
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A circular loop of area 5 mm’ is placed coaxially inside a long solenoid that has
1000 tums/cm and carries a sinusoidally varving current of amplitude 1 A and
angular frequency w. If the amplitude of the emf induced in the loop is 4.4 x 10 V.
then the value of *w’ 1s

DFV0 5 mm’ € 557576 L)AL 1 cm £ 1000 0w fo 28 Fdronsd &
Do GodTE). FOToNE Mot Sodd DBMWA 1 A, edan IR ‘©’
A0 PBOFONES T Arcd) DES DITAD) B, r)S” HBBL0S emf
03.1.}53} SoDD DBDA 4.4 X 107V 02003 ‘w0’ Densd

Options :
| % 350 rad g

) 700 rad s

5 % 3007w rad g

4 % 2007 rad st
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An mductor of 200 uH 1s connected fo an alternating source of frequency 50 Hz.

Then the inductive reactance is

:"J“a::aalgc 50 Hz o 208 J5°0d0 235708 200pH HD6So $dHTC. 9000
DOSAT PBB o

Options :
-~ _2
L 6.28 X 10 Q2

, x 1.64x107 Q

L % 314x107 Q

, % 482x10° Q
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The type of electromagnetic waves that are produced due to rapid acceleration and
decelerations of electrons in aerials is

DBOSy & VTR B SO S(OEI0 VBOIL WDSG0 Votitio SVD &B\D

900 :}mécaomi';%a@ SGoriannen

Options :
X-rays

| % X - SO
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Radio waves

3603 SCelmen
2. ¢

Micro waves

- ’nl?ié SSolTew

Gamma -rays

. AT — S0Ten
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Assertion (A) : Microwave oven heats a food item containing water molecules
most efficiently.
Reason (R) : Resonant frequency of water molecules matches the frequency of

micro waves generated by microwave oven.

DOSIAD (4): D BrH £IND DI TV WE- DD LD VIrdJodorr Dé
SOAVED.
DODIB0 (R): 2EDD 42D & &3 D wod WE S TR: PR O

EIEAIDNEL LIRVTE ia‘a‘:a::g_jmé:;}é RATD0 9NBB.
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Options :

(A) and (R) are true and (R) is the correct explanation of (A)

(A) 80w (R) e :aej?ga‘.m SoBodw (R) e223é (A) ms& ROADA DG
1.¥

(A) and (R) are true but (R) 1s not the correct explanation of (A)

- (A) 0Bt (R) w0 SO0 =2 (R) @36 (A) aB0E), PBADLA DHDGes 5°E

(A) 1s true, but (R) is false

(A) 285500 529 (R) 0w
3. %

(A) 1s false. (R) 1s true

i} (A) eoRoagaw, =3 (R) RBIB0
4.

Question Number : 116 Question Id : 4387197476 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The incorrect statement among the following is

(I = Intensity of mncident radiation. f= frequency of incident radiation)

208 T7e5° HDOTLR DIVAIW TIA.

(I= 2325 5708 833, f = DD T°0d i‘a“a;f.ggaém)

Options :
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Maximum kinetic energy of photoelectron varies linearly with f.

T dogy A6 AS2 28 T S° BT HrEB0E.

Maximumn kinetic energy of photoelectron is independent of L

T oz 18 (S 3§ T 2 BSErodE.

Photoelectric current is directly proportional to I

e’ DS T & 293085 AR Frded” SotLod.

Stopping potential is proportional to L

L Thelale) ﬁ“ﬂg;o:saej T & 98085 5780 Tretoes” eotiod

Question Number : 117 Question Id : 4387197477 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The shortest wavelength in the Lymann series of hydrogen
[For hydrogen. Rydberg constant Ry = 1.097 X 10’ 111'1]

TERD DOATIY T 33 &7 AN BEoBBG S

(& xS 8¢\6 Doroddn Ru=1.097 X 10" m™)

Options :
| 91.2 nin

5 % 364.6 nm
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3 % 8320.4 nm

4 % 2278.9 nm

Question Number : 118 Question Id : 4387197478 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

2 kg of a pure radioactive substance after a passage of N vears is left with only 125 g
of pure substance. The half life of radioactive substance 1s 12.5 y. The value of N 1s

B50°3 2 kg Ao 08 DD SC.air ord) 8 DErdaw, N RodS 0oL STD
2, : e @ . o)
125 g Srgd whdsd. daoir ord) s DTEY ©g 2D S0 12.5 VoSBT

oS N Dewsd

Options :
1.v 30y

375y
L % 250y

, % 100y

Question Number : 119 Question Id : 4387197479 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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For which of the following combinations of A. B and C. the output becomes Y = 07

Sodd ”&'tﬁr}]r"@ S0, S0030e” S0 A, B Hodain C Dewded :}gmm Qewd Y =0

93008,
>
Ba
L
C_
Options :
1.$A=0‘ B=0. =l
,x A=L B=0. €=
;% A=1, B=i, C=0
,w A=1 B=1. ¢=1

Question Number : 120 Question Id : 4387197480 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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For an amplitude modulated wave, the minimum amplitude is 4.0 V and modulation
mdex 1s 0.4, The maximum amplitude 1s

208 SoDA DHOBS arf.‘.fué@jﬁci B0or208 5:)%1 SoDA DB 4.0 V 2odosn

SUISIG RN 2e0) 0.4 00D A8 S0 HOWS

Options :
855V
1. #
1225V
2. %
;% 650V
4w 933V
Chemistry
Section Id : 438719153
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 121 Question Id : 4387197481 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The value of Rydberg constant in J is

BE E.J§ f&gcﬂos:; Dewd T ees”

Options :

| v 2.18x107°

, % 3:26x107

3w 2.18%107°

4 % 1.60x107°

Question Number : 122 Question Id : 4387197482 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The energy of the hydrogen atom in its ground state (in eV) is -x. The energy of He"
ion in its fourth orbit (in eV) is
BrRad” TERD 38 (eV %) x wownd He £ Trud S84 38 (eV o)

Options :

X
_I__
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X
4.0 4

Question Number : 123 Question Id : 4387197483 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Pauling scale. the electronegativity value of four elements L IL IIT and IV are 3.5.
3.0. 2.5 and 4.0 respectively. The elements in order are

ardof S5 e5° L IL IIL IV e Treud) Soresten 2060 Smém“@és DS
so@ort 3.5, 3.0, 2.5, 4.0 e9c00a) &5 JaresTel) Hfonrm

Options :
.« N.O.CLF

, « EN.O.C

, % CLO.C.F

4 v O.CLC.F

Question Number : 124 Question Id : 4387197484 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following has the least negative electron gain enthalpy?
o8 To83e5° 8IS DUTD T QOTEJ;} S 22WETS) SOTT Gotol?

Options :
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Oxvgen

- e_eégaz.-%

Fluorine

8D

2. % =

Chlorine

£83

3. %

Sulphur

4 % "nae.:n:ﬁ

Question Number : 125 Question Id : 4387197485 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The dipole moment value of which of the following molecules 1s maximum?
£0& EVPHVS” BIS BLED TS0 Desd (8307
Options :

1% BEFE

3, % NHs
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4, % CHa

Question Number : 126 Question Id : 4387197486 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The bond order of CO 1s x. The bond order of N, and C, are respectively

CO 2306 €300 X. Ny, C; & )06 SATe) HDDM™

Options :
g
1. ® 2%3
x
o —
2. ®
2 5y
3 % 3 "6
Sr 2x
4.4 6 3

Question Number : 127 Question Id : 4387197487 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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1 L mixture of gases M and N is prepared by mixing gases from reservous of 10 L of
volume each. The initial pressures on the reservoirs are 100 and 50 bar respectively.
After mixing. the pressures in the reservoirs are 99 and 49 bar respectively. What 1s
the pressure (in bar) of the gas mixture at 27°C?

IL M 208050 N o aai:xrﬁg__ ¢ 10 L & d2o° a6 © Dol STy BIW.
62T 006 0e5® M 2803w N o &9 bagres s 100 20doiw 50 bar.
D320 DOYES BHTS B2T°EE 06" M 208030 N © JETW0 DGR 99

508050 49 bar. 27°C 56 Tras 32 HESo (bar ©°) Dos?

Options :

1'%2
2'%1

4. % 10

Question Number : 128 Question Id : 4387197488 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The molarity of 10% (w/w) aqueous NaOH solution (density 1.11 g mL™)
10% (w/w) NaOH & grare0 200e8e) (Froged 1.11 g 111L'1)

Options :
| % 250M
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, % 325M

3 278 M

4 % 1L.52M

Question Number : 129 Question Id : 4387197489 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the balanced equations. the value of a. b and ¢ are respectively

aFe;04(s)+bAl(s) —» Fe(s)+ AlLO;(s)
Vi0s(s)+cCa(s) —» V(s) +Ca0 (s)

S0y 2EGETOS’ a. b B0B0%0 ¢ © DewSden SEHRTT

aFe;O4(s)+bAl(s) — Fe(s)+ ALO;(s)

V50;5(s)+cCa(s) —» V(s) +Ca0O (s)
Options :
%455

4 % 485

Question Number : 130 Question Id : 4387197490 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Calculate A, HO for the reaction A'(aq) + B'(aq) — AB(s) at 25°C
AH(A%,aq) = 200 k] mol™*
ArH®(B™,aq) = —300 k] mol ™
A-H°(A%, g) = =150 kJ mol !
AH°(AB,s) = —250 k] mol™!
ArH°(AB,g) = +130 kJ mol™*

S08 9618 25°C HG A.H® §8) o0
A'(aq) + B(aq) — AB(s)

A-HO(A*, 20) = 200 k] mol ™
AH(B~,20) = —300Kk] mol™
A-HO(AY, o°030) = —150 kf mol ™!
ArHO(AB,20%) = —250 k] mol ™+
A-H°(AB, 5°03) = +130 k] mol ™t

Options :
-1
L% 150 kJ mol

5 o "150K] mol !

- 0 k] mol™t

L% +130 k] mol™?
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Question Number : 131 Question Id : 4387197491 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

H-X mean single bond enthalpy is maximum when X is
H-X 98 206 dom-dy (163 2o0%§ X Dewsd

Options :

1 % O

2. # F

3 % Cl

Question Number : 132 Question Id : 4387197492 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The relation between equilibrium constants K¢ and Kp 1s

’rcma“f’g@ f’gcr“as*’w K 208080 Kp & 206 Roe30600.

Options :

- K o= R RTY"
K,=K.(RT)’

2. % .
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K. =Ko (RT)"

1
. Kc =K (RT)"

Question Number : 133 Question Id : 4387197493 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The hydronium ion concentration (i mol dm™) in 0.3 M solution of a weak acid is
approximately [K, =3 x 107]

0.3 M ewerd e groee & Edobo eadrd meEd (mol dn™ ©e5) Rsrdm
[K,=3x107]

Options :
L% 3x10°

LA

, x 3%x107
2 -3
v 3x10

3.

4, % 3x107

Question Number : 134 Question Id : 4387197494 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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In CuSOy. 5H;0. the number of coordinated, hvdrogen bonded water molecules
present are respectively,

CuSO;. SHyO. %068 H0d(ah DMradab, TEED wodd I8 wmdHo
"n:oa:;éw DGO

Options :
1. ® 5.0

4 % L4

Question Number : 135 Question Id : 4387197495 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s a correct statement?

ol TS’ B DT Toqay?
Options :
Be(OH); 1s a basic hydroxide

- Be(OH), 28 =6 &8 \G

LiF has low lattice energy than LiCl

LiCl] &3 LiF s ‘.-133955 s $3 ejéoz oy,
2. ® o ?
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Lithinm can form nitride with nitrogen
OHoD0 DeT2D & DVE D0 R,

3.¢ e

Super oxide of potassium 1s diamagnetic n nature

Teraoe ArHd eFE oI 0 VTS0 U8,
4. % ~

Question Number : 136 Question Id : 4387197496 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The characteristic colour of the flame of Barium salts 1s

300020 LSETL ) VAULHS Cod WAL BFTON?
Options :
Yellow

1Q:Jm:g_')

Crimson

5 % So) Cofo

Brick Red

QLS DK
3. %

Apple Green
€52585 580 Edy
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Question Number : 137 Question Id : 4387197497 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The correct electronegativity order among Al. Ga, In. and T1 with respect to Pauling
scale 15

I Dofl 23,2080 92008 Al Ga. In. Tl o dor DejEra) So DBFD Svo

Options :
| » Al=Ga=In>TI

) Tl>In> Ga=> Al
;3 % In>=Tl>Ga= Al

4 % Al>Tl>=In> Ga

Question Number : 138 Question Id : 4387197498 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The pair of ions. in which first one acts as a reducing agent and second one acts as an
oxidizing agent 1s

D00GED 903D OSEES TR0, Bokisd AITD 581868 ey DIBD ASrsd 2oty
Options :

| % Pb*" . Sn®”

- sn* . Pb*

3. @ sn®” . PbY
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T T

4 % Sn . PbT

Question Number : 139 Question Id : 4387197499 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The IUPAC name of the following compound 1s

Sofd ‘bﬁ)&}%‘-‘ﬁm cws), IUPAC S0

O
—Br
—
Options :

1-Bromo-2-ethyl ¢yclohex-1-en-6-one

1- 85°20° — 2- 9@ PETE - 1- D - 6 -4

1. %

1-Bromo-6-ethyl cyclohex-1-en-2-one

1-85°20 — 6 —a@S PEarSy— 1 —ad - 2- &3
2. %

2-Bromo-3-ethyl cyclohex-2-en-1-one

2- g2 -3- 9SO pEEY-2 -0 - 1-43
3.¢

2-Bromo-1-ethyl cyclohex-1-en-3-one

2-gar - 1-936 -pErEy -1-a9-3-83
4. %
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Question Number : 140 Question Id : 4387197500 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The major product of the following reaction 1s

Sod tﬁﬁgﬁfﬁﬁ DR &3 D) o

CHsy

f,. TDH Hy S04
"ij —CH, :

Options :
CH,
LY X
CH,
Ef | i -
2 %
CH3
’:P'“‘CHE
3. %
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iHa
Ve

4o

Question Number : 141 Question Id : 4387197501 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the packing efficiency in fec lattice?
foe 2regody” Sy 5‘:‘5&%@ dodh?

Options :

| T4%

52%
|0
y .18 S0

3. %

Question Number : 142 Question Id : 4387197502 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Solid A forms bec lattice, Solid B forms fec lattice. If the unit cell lengths (a) of A
and B are 4 and 5A° respectively, what 1s the ratio of the radii of A and B?

2000 A, bee o). o B. feo wrosdy ‘S.‘}d:jci@“cm. A 2080w B o
9ot e (a) DEHM 4 08030 SA” eond, A 280w B © J“é%‘“g*e.: NECN:)
oJoed?

Options :
-6

) ® 5: 21';"}‘6

Lo 2V6:5

Question Number : 143 Question Id : 4387197503 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

. el 2 r : ﬁ
At T(K). Henry’s law constant for the molality of methane in benzene is 4.27X10
mm Hg. The solubility of methane in benzene at T(K) under a pressure of 2
atmospheres 1s

T(K) 56 oS &° DBD 20erdBs 9 Dobaw Rovego 4.27X10° mm Hg. T(K).

2 Qe 250506 DEDo S B & WP OB
Options :

-3
| % L78X10
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, x 4.56X107

3
3 ¥ 3.56X10

4
4w 3:34X10

Question Number : 144 Question Id : 4387197504 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following mixtures show negative deviation from Raoult’s law?

o0& EATLS" DD G Do K0ot) K8 DT TR ;_.‘gci&;@“ma?

(I) CHCl; + (CH;),CO
(IT) CxHsOH + CH;NH,
(IIT) C,HsOH+ (CH;).CO

(IV ) CsHs+ CsHs. CH;
Options :
II & III only

% II & IIT S5

III & TV only

I & IV &g
2. % )
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I & 11 only
o T &I argdo

.

I & III only

I & TIT a3
4, % o

Question Number : 145 Question Id : 4387197505 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The standard Gibbs energy AG? for the following electrochemical cell is
P(s) |P**(aq, 0.01M)[IQ*" (ag, 0.02M)|Q(s)
(.Egeu =0.2V)

S0 335:5.3595 SO0 DTS LATR HE 38 (AGY)

P(20) [P (20,0.01M)[|Q** (2o, 0.02M)|Q(3»)

(Eceny=02V)
Options :
L 1158 kJ

, x 1002 kJ
3 % 200.5 k]

4 % 300Kk
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Question Number : 146 Question Id : 4387197506 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The rate of disappearance of hydrogen (H;) from the following reaction is
6gL’ 5. The rate of production of ammonia (NH;) (in g L'¢Yis

Nx(g) +3Ha(g) - 2NHs(g)
806 01" TERS (Hy) DDaurce Bew 6 g L 57 wond war dosr (NH;)
D6yER Bew (gL s '0e")

Options :
1. ® 20

L v 34

4.331{?

Question Number : 147 Question Id : 4387197507 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In adsorption. the thermodynamic requirement 1s
ERASE TR DTG0 BBF IS S HVVID
Options :

| » AH=+ve ; AS=+ve
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) AH =-ve AS= -ve
; » AH=-ve . AS=+ve

4 % AH =+ve : AS = -yve

Question Number : 148 Question Id : 4387197508 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The correct property of colloidal solutions when compared to that of true solutions 1s
Dz grerod TR, Serond gromre DJowd )0 D&?

Options :
Lower osmatic pressiure

DOy BTDVCE D0
1.

High depression in freezing point

9B DVDBID FD SEUE
2. s s

High elevation in boiling point

B E-J“Elnjef-ﬁbﬁ‘.& SRR
3. % g

High Vapour pressure

S eIy DED0
4, %
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Question Number : 149 Question Id : 4387197509 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arrange the following hydrides in the increasing order of their reducing power

$08 TTEE LA T LSS Lo DBA S0 BT ol

1i\IT.H-g As H3 Sng PH 3

: 11 ol =
Options :
1. % HI<II<] <1V

, % M<O<IV<I

. o [SIV<II<II

4% I<IV<II<II

Question Number : 150 Question Id : 4387197510 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The gas that 1s released from supersonic jet aeroplane reacts with Oz to give
ArHE FIE B DIrTw Aed) DGO T ek O3 & B8] Sobs Sobd TO

DG-GB
Options :
1% Nat0s

) N2O + O
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3 @ NO;+ 0,

4 % N-O +N; + O,

Question Number : 151 Question Id : 4387197511 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Assertion (A): The stability of Cu’ ions is less than Cu” in their aqueous solution.

.24 ; o
Reason (R): Aqueous Cu”" has more negative Apyatl © than Cu’.

D80 (1) : Cu™" (20) LAITD © J6S0 Cu” (20) S0l B8, ST Gotwod.

52600 (R) : Cu™” (20) 8 Cu” (220) S0 98E 6082 ApyHE Gotnod.

Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A).

. A 2080300 R e Goch) 280080 Sudodn A S0 R 280 LodEs.
I.

Both (A) and (R) are correct but (R) is not the correct explanation of (A).

A 2080320 R e Sotdd ABoHD 57 A S5 R 2800 DoHdes Ste.
2. %

(A) 1s correct but (R) 1s incorrect.

A RO 57 R 20000 57,
3. %
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(A) 1s mncorrect but (R) 1s correct.

A DT 573 57 R 200w,
4. &

Question Number : 152 Question Id : 4387197512 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

One mole of a yellow coloured complex CoCl;.6NH; gave three moles of AgClI on
reaction with an excess of AgNQO;. The conductivity of the solution of complex 1s
due to

208 2T7e5 DRAWY) Ford ﬁuﬁ‘ﬁgo CoCl;.6NH; 0988 AgNO; &5° ﬁdﬁ?ﬁﬁ 3ard o AgCls

R0 YR ol. VoFY EHE TSI SO0
Options :
| % 1 ion mol™

. I |
, % 2 1ons mol

. 1
3 % 3 lons mol

= £
4 4 1ons mol

Question Number : 153 Question Id : 4387197513 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Chose the correct statement

rDia @53335‘5.} thoodod
il E) —t
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Options :

Vitamin A & K are insoluble in water and can be stored in Adipose tissue

s A %8s K o 286° 551 Hedtn 2885 Snerood® Quy Sebatdaron.
1.

Vitamin A & K are soluble in water and can be stored in Adipose tissue

| 5 D0S A meain K o b8¢® stiboron fbain 2885 Suerocs® Doy Sckadsron.

Vitamin A & K are soluble in water but cannot be stored in Adipose tissue

, D008 A Hean K o badf stuberan =20 288% Sueroos® dogicbats.

3.
Vitanun A & K are msoluble in water but cannot be stored in Adipose tissue
, w DEE A seas Ko 888 s o0 2807 Suwrood® deudichadsd

Question Number : 154 Question Id : 4387197514 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following is/are reducing sugar?

(1) Glucose (ii) Galactose (ii1) Ribose (iv) Fructose

() s () wess  (i)pse (V) gs's

o

Options :
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(111) only

ECHESES:

(1). (ii). (iv) only
5 5 (D (D). (iv) &8s

(1). (111). (1v) only

3 % (@), (). (iv) S8
(1). (ii). (iti) and (iv)

4 o (- (D). (iii) e (iv)

Question Number : 155 Question Id : 4387197515 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identifv the major product formed in the following reaction

~~OH (i) NaBr, H,50, L
(1) Ma/ dry ether
(iii) HoO

ElelA! iﬁﬁ;ﬁarﬁ B (Babramryiy hiodol.
~OH (i) NaBr, H,S0y
(i) Mg/ |28 &85
(iii) H,O
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Options :
o
¥ X
i
~.. OH
3 8 OH

4.9 L

Question Number : 156 Question Id : 4387197516 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following readily participate in Sy2 reaction?

180k &S L8 SN2 rﬁﬁ;é’a &pm #@;a&xﬂﬂ‘?

Options :

N —o
[:><::|

2. %
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Question Number : 157 Question Id : 4387197517 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Decreasing order of acidic strength for the following is

Sob T8 VS0 e‘.’?ﬁ g0 .

OH OH OH OH
® S5 O O
- = o
= NO, - e
CH, :
) i (i) (v)
(i) .
Options :

| x (D > (i) > () > @)
) x () > @)>@> (i)
3 o (i) > (@) > (V) > (i)

4 x D) > (@) > (1) > (1)
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Question Number : 158 Question Id : 4387197518 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identity the major products P and Q from the following set of reaction sequences
Sodd WoT| ST DB Aot ijdjd DD éo.jraa::“?ge_n P &0bodw Q &
OBotSoct.

Ha
(1) CrO; / (CH;C0),0, 273 K ’l R (1) CL, / hv
= [ ) - Q
i e -
() H;0°, A (1) H,0, 373 K
Options :

~w.~COOH . ~CHs
- Ej/ . Lfa
| % = Cl
~.__CHO Xy CHO
- (e T
~z
. " "OH _ =" “OH
i Cj/ Ll
.__COOH s
- o AT
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Question Number : 159 Question Id : 4387197519 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Propanoic acid exist as dimer in which of the following:
a) Vapour phase (b) aqueous solvent (c) aprotic solvent

$od DOS° THIaS B0 BY BEIN0RT (E206) Eotod?

a) ePRy 3@:}@ b) 20 grdese ¢) TP G mrate (QJ'OS)
Options :

1. ® a. b

, % ab.c
;% D¢

Question Number : 160 Question Id : 4387197520 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following gives Carbylamine test?
808 TOS° DB TS DD HBLI0A?

Options :
| % RNH

» » RNH;

3 % RNC
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, « RCN
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